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Find the exact value of each expression.
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Find the exact value of the arc length intercepted by a central angle of 105° in a circle with
a radius of 9 centimeters.
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14.  Find the degree measure (to the nearest hundredth of a degree) for an angle of 3 radians
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15.  Determine whether — 340° and 1060° are coterminal. Explain your answer
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16.  Find the exact value of tan § 1f cos 6 = "Ta and # 1s m quadrant IV.
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17.  Find the exact value of cos # for an angle # in standard position whose terminal side
contains the point ( — 5, 6).
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18. Matt, a six-footer, spies a red-headed woodpecker on the branch of a tree in his yard.

From the ground. the angle of elevation along his line of sight to the bird 15 28°. He walks
20 feet towards the tree, and 1n the same plane as before, now sees the bird at an angle
of elevation of 42°. How high i the tree 1s the bird? Round answer to the nearest foot.
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19. At what speed in miles per hour will a bicyele travel if the rider can cause the 26-inch
diameter wheel to rotate 90 revolutions per minute? Round answer to the nearest tenth.
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20.  One of the acute angles in a right triangle 1s 35° and the hypotenuse 1s 8 cm. Find the
length of the leg of this right triangle which 1s adjacent to this 35° angle. Round answer to
the nearest hundredth of a centimeter.
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Sketch at least one cycle of the graph of each function. Draw and label the axes
appropriately. Determine the period, range, and amplitude for each function.
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. Determine the amplitude and period for the sine curve in the accompanying graph.
Write its equation in the form y = A sin(B [z — C]) + D.
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Sketch at least one cycle of the graph of each function. Draw and label the axes
appropriately. Determine the period, asvmptotes, and range for each function.
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Solve each problem. . /\‘
9. Graph the function y = sinx — cos = for x between — 27 and 27 using the technique of

adding the y-coordinates. Draw and label the axes appropriately.
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10. The population in a particular herd of antelope in South Africa oscillates between
approximately 500 and 800. The maximum number can be found at the beginning of
January, while the minimum number of can be found at the beginning of July. Express the
population as a function of time in the form y = A sin[B(x — C')] + D, where January 1s
counted as month one (x = 1).
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